


K

2PCS

1PC

2PCS

1PC

1PC

1PC

1PC

1PC

1PC

1PC

2 PCS

1PC




A




A




HARDWARE LIST

P M5X45 C O STICKER
58 PCS 58 PCS N PCS
D E F o 4X18
“ 1pcs ' 2pcs ~ 4PCS
G H . 4X12 |
- 3pcs 3 PCS 4 PCS
J K L
4 PCS — 2 PCS — 2 PCS
M <, 8X40 N L o, 4X14
“ 6 PCS 1 PC 4 PCS
P Q %lnn‘nnn» 4X40
6 PCS 12 PCS

5X45mm bolt installation as below

—

=

NOT INCLUDED




PARTS

M5X45

A
2pPcs™

«~ 10 PCS

B

S—
10 PCS




" PARTS

~

A M5Xd5
10 PcS*




~

" PARTS

A M5X45 _
8 PCS

B
8 PCs=




" PARTS A

Q 4X40 .
p====> 8 PCS

" PARTS
A M5X45

8PCS™

&

B
8 PCS




" PARTS R

Q 4X40 .
=== 4 PCS

" PARTS R

A M5X45 _
4 PCS

=

B
4 PCS







	11
	01
	02
	10
	09
	06
	08
	07
	05
	03
	04

